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Sample_Id  
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Revision_Time  
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Data_Format 
Dim_Size 
Dim_Title 
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Spectrometer 

Field_Strength  
X_Acq_Duration  
X_Domain  
X_Freq  
X_Offset  
X_Points  
X_Prescans  
X_Resolution  
X_Sweep  
X_Sweep_Clipped 
Irr_Domain  
Irr_Freq  
Irr_Offset  

= MED27099-M2G7099CA       
= delta
= carbon.jxp
= MED27099-M2G7099CA  
= CHLOROFORM-D
= 14
= 20.4[dC]
= 23-JUL-2020 17:30:  
= 24-JUL-2020 09:35:

= single pulse decou  
= 1D COMPLEX
= 26214
= Carbon13
= [ppm]
= X
= JNM-ECZ400S/L1

= 9.389766[T] (400[M  
= 1.03809024[s]
= 13C
= 100.52530333[MHz]  
= 100[ppm]
= 32768
= 4
= 0.96330739[Hz]
= 31.56565657[kHz]  
= 25.25252525[kHz] 
= Proton
= 399.78219838[MHz]  
= 5[ppm]

Clipped   = FALSE
Scans   = 232.0
Total_Scans   = 232.0

Relaxation_Delay  = 2[s]
Recvr_Gain  = 56
X_90_Width  = 8.5[us]
X_Acq_Time  = 1.03809024[s]
X_Angle   = 30[deg]
X_Atn   = 6.6[dB]
X_Pulse   = 2.83333333[us]
Irr_Atn_Dec   = 20.59[dB]
Irr_Atn_Dec_Calc  = 20.59[dB]
Irr_Atn_Dec_Default_Calc = 20.59[dB]
Irr_Atn_Noe   = 20.59[dB]
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Irr_Dec_Freq   = 399.78219838[MHz]
Irr_Dec_Merit_Factor   = 2.2
Irr_Decoupling   = TRUE
Irr_Noe   = TRUE
Irr_Noise   = WALTZ
Irr_Offset_Default   = 5[ppm]
Irr_Pwidth   = 0.115[ms]
Irr_Pwidth_Default   = 0.115[ms]
Irr_Pwidth_Default_Calc  = 0.115[ms]
Irr_Pwidth_Temp1   = 0.115[ms]
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